1. Anti-Knight
Sudoku

Fill in the grid so that
every row, column,
and 3x3 box contains
the digits 1 through 9.
The same digits are
not chess-knight-move
connected.

2. Disjoint Groups
Sudoku

Fill in the grid so that
every row, column,
and

3x3 box contains the
digits 1 through 9.
Digits do not repeat in
cells at the same
position among the
3x3 boxes.
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3. Irregular Sudoku

Fill in the grid so that
every row, column,
and region contains
the digits 1 through 9.

4. Nine Dragons
Sudoku

Fill in the grid so that
every row, column,
3x3 box, and labeled
path contains the
digits 1 through 9.
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5. Non-Consecutive
Sudoku

Fill in the grid so that
every row, column,
and

3x3 box contains the
digits 1 through 9. The
difference between
any two horizontally or
vertically adjacent
cells cannot be 1.

6. Odd Sudoku

Fill in the grid so that
every row, column,
and 3x3 box contains
the digits 1 through 9.
The grey cells should
only contain odd
numbers.
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7. Skyscrapers 4 3 4
Sudoku

Fill in the grid so that 3 4
every row, column,
and 3x3 box contains 4 3

the digits 1 through 9.
Consider each number
to be the height of a
building. The numbers
outside the grid
indicate how many
buildings can be seen
when looking in that

direction (taller 2 4
buildings conceal
smaller buildings 2 3

behind them).

8. Sum Sudoku

Fill in the grid so that
every row, column,
and 3x3 box contains
the digits 1 through 9.
Numbers given
between cells
represent the sum of
the two digits.
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Disjoint Groups + Odd

Anti Knight + Non Consecutive
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